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General Instruction:

1. The question paper consists of four Sections — A, B, C, D.

2. All questions are compulsory.

3. There is no overall no choice.

4. All sub-questions under the main question carry equal marks.

5. Rough work, if required may be done on the last few pages of this
question booklet, provided for the purpose.

)

®

DEFENCE SCHOOL

Making officers....Building Nation....

74199-99228



Section - A (Science)

1. Fill in the blanks (5x1=05)
(a) Cerebrum makes up over percent of the brain.
(b) Substances with __ shape and are known as solids.
(c) Breakage of bone causes
(d) The uppermost layer of the earthis called
(e) Metals are extracted from their
2. Answer the following questions: Gx1=5)
(a) What is the major function of the spinal cord?
(b) Explain the term contraction.
(c) Define the term fracture?
(d) What is soil erosion?
(e) What do you meant by Magma?

Section - B (Mathematics)
1. Multiple choice questions 6x1=6)
1. Which of the following numbers is divisible by 39?

(a) 45506 (b) 17745 (c) 466961 (d) 166976
2. Simplify 34.5 -17 + 7 + 642.3
(a) 652.8 (b) 617.8 (c) 666.8 (d) None of these

3. Find the interest to be paid at the end of one year on Rs.3250 at 6% per annum.
(a) Rs.195 (b) Rs.159 (c) Rs.190 (d) Rs.100
4. The amount of surface enclosed by a closed figure is called — — — —-

(a) Area (b) Perimeter (c) Volume (d) None of these

5. 2. The area of a rectangular piece of cardboard is 45 sq cm and its length is 5 cm. The width of the
cardboard is — — — — —-

(@) 9 cm (b) 4 cm () 7cm (d) None of these
6. The number of diagonals in a septagon is

(@) 21 (b) 42 ()7 (d) 14

2. Fill in the blanks @x1=4)

1. If two angles are Supplementary, then the sum of their measures is

2. 1sqm = sqcm.
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3. A fraction with denominator greater than the numerator is called a fraction.
4. It S.P < C.P then there will be
3. Answer the following questions: 5bx2=10)

(@) A milk man has two cans of 40 and 60 litres full of milk. Find the maximum capacity of that pot
by which milkman can measure milk to both cans when used in exact number of times.

(b) Just looking at fraction, can you tell whether it is less than one equal to one or greater than
one? If yes, explain how?

(c) Mohit pays Rs 9000 as an amount on the sum of Rs 7000 that he had borrowed for 2 years. Find
the rate of interest.

(d) Find the area of the rectangle whose side are :12 m and 21 m
(e) What are the properties of Lines and Angles?
Section - C (English)

Direction (1 - 5): Fill in the gaps with the genders in opposite to the words given in the

brackets: G5Gx2=10)
1. The ____ took his mother’s advice. (daughter)
2. Hisfirst__ was Ajabde Panwar. (husband)
3. Welcome the first visitof the __ of walves. (princess)
4. got prize on the Republic Day. (He)
5.Hehad a (sister)
Direction (6 - 10): Fill in the blanks with at/on /in: G5x2=10)
1. 12 September.
2 the evening.
3. half past four.
4. Wednesday.
5. 2006.
Section - D (Social Science)
1. Answer the following: 5x2=10)

1. Name the three climatic zones.
2. Name the five important factors that determine the climate of a place.

3. Name the place which was fixed as the starting point for numbering the meridians and in which
year?
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4. Discuss the effect of revolution.

5. How does an earthquake occur?

Admission Helpline No: 74199-99228
Page | 3



	Test - 1 Front Page.pdf
	Class 6th Test - 2.pdf

